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—HP(4THE) 30,0002 *5000H 15,000
— AR 15,0009 %5007 7,500
—RsFL 80,0002 * 12574 10,000
—JtRA(SI17) 40,0002 %1507 6,000
—JIEFRHTH 65,000,000 %5/100 3,250
401 AlEHIL2OHY] 69,500 68,500 1,000
01 A& 69,500 68,500 1,000
O=ZN}ZS AR &% 1,000,000 1674 4 16,000
OL% .98 JIZS 0l& 1,000,000 1674 4 16,000
OFBXNNE 2H =S Il
100, 00024 * 10074 4 10,000
OL%.98 JI2S SF Al
1,000,000 x2074 2 20,000
OZANES SHMZ B2 2 A
150, 00024 %5074 A 7,500
MEED SR 28,908 28,617 291
101 Q12| 21,908 19,967 1,941
04 JAMIEXNS S 21,908 19,967 1,941
ONZES AsBel WHES 2Ry 21,908
-Jle3 50,8002 x22 1602 16,256
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—FsUsg 50,8002 *2 x322 3,252
—aeEa 19,508, 000! *12.3% 2,400
206 X2l 7,000 7,000 0
01 MEH 7,000 7,000 0
O120R A 2SR 7
350,0002! *20 A CH 7,000
HNSAAY (FHSAD)(OIEHIIEH 27,400 28,000 600
=z 27,400 28,000 600
DI 27,400 28,000 600
201 ety 11,200 11,200 0
01 AlR2telt 11,200 11,200 0
OgetgH| 11,200,000 11,200
202 04t 12,000 12,600 600
01 2UHoit 12,000 12,600 A600
OSNSS (AR, HOIL B4 S)
12,000,000 12,000
203 HREHY| 4,200 4,200 0
04 RNSHYREAY| 4,200 4,200 0
ORASgdRETY| 4,200,000 4,200
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